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NEW QUESTION 1
How long can you keep your Amazon SQS messages in Amazon SQS queues?

A. From 120 secs up to 4 weeks
B. From 10 secs up to 7 days
C. From 60 secs up to 2 weeks
D. From 30 secs up to 1 week

Answer: C

Explanation: 
The SQS message retention period is configurable and can be set anywhere from 1 minute to 2 weeks. The default is 4 days and once the message retention limit
is reached your messages will be automatically deleted. The option for longer message retention provides greater filexibility to allow for longer intervals between
message production and consumption.
Reference: https://aws.amazon.com/sqs/faqs/

NEW QUESTION 2
Which one of the following operations is NOT a DynamoDB operation?

A. BatchWrite|tem
B. DescribeTabIe
C. BatchGetItem
D. BatchDeIeteItem

Answer: D

Explanation: 
In DynamoDB, Deleteltem deletes a single item in a table by primary key, but BatchDeIeteItem doesn’t exist.
Reference: http://docs.aws.amazon.com/amazondynamodb/latest/developerguide/operationIist.htmI

NEW QUESTION 3
Regarding Amazon SNS, when you want to subscribe to a topic and receive notifications to your email, in the Protocol drop-down box, you should select .

A. Email
B. Message
C. SMTP
D. IMAP

Answer: A

Explanation: 
In Amazon SNS, when you want to subscribe to a topic and receive notifications to your email, select Email in the Protocol drop-down box. Enter an email address
you can use to receive the notification in the Endpoint field.
Reference: http://docs.aws.amazon.com/sns/latest/dg/SubscribeTopic.html

NEW QUESTION 4
In Amazon EC2, which of the following is the type of monitoring data for Amazon EBS volumes that is available automatically in 5-minute periods at no charge?

A. Primary
B. Basic
C. Initial
D. Detailed

Answer: B

Explanation: 
Basic is the type of monitoring data (for Amazon EBS volumes) which is available automatically in 5-minute periods at no charge called.
Reference:
http://docs.amazonwebservices.com/AWSEC2/latest/UserGuide/monitoring-volume-status.html

NEW QUESTION 5
When you create a table with a hash-and-range key, you must define one or more secondary indexes on that table.

A. False, hash-range key is another name for secondary index
B. False, it is optional
C. True
D. False, when you have Hash-Range key you cannot define Secondary index

Answer: B

Explanation: 
When you create a table with a hash-and-range key in DynamoDB, you can also define one or more secondary indexes on that table.
Reference: http://docs.aws.amazon.com/amazondynamodb/latest/developerguide/LSI.htmI

NEW QUESTION 6
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A user has created a queue named "myqueue" with SQS. There are four messages published to queue which are not received by the consumer yet. If the user
tries to delete the queue, what will happen?

A. A user can never delete a queue manuall
B. AWS deletes it after 30 days of inactMty on queue
C. It will initiate the delete but wait for four days before deleting until all messages are deleted automatically.
D. It will ask user to delete the messages first
E. It will delete the queue

Answer: D

Explanation: 
SQS allows the user to move data between distributed components of applications so they can perform different tasks without losing messages or requiring each
component to be always available. The user can delete a queue at any time, whether it is empty or not. It is important to note that queues retain
messages for a set period of time. By default, a queue retains messages for four days. Reference:
http://docs.aws.amazon.com/AWSSimpIeQueueService/latest/SQSDeveIoperGuide/SQSConcepts.html

NEW QUESTION 7
In Amazon SNS, to send push notifications to mobile devices using Amazon SNS and ADM, you need to obtain the following, except:

A. Client secret
B. Client ID
C. Device token
D. Registration ID

Answer: C

Explanation: 
To send push notifications to mobile devices using Amazon SNS and ADM, you need to obtain the following: Registration ID and Client secret.
Reference: http://docs.aws.amazon.com/sns/latest/dg/SNSMobiIePushPrereq.htmI

NEW QUESTION 8
In regard to DynamoDB, can I delete local secondary indexes?

A. Yes, if it is a primary hash key index
B. No
C. Yes, if it is a local secondary indexes
D. Yes, if it is a Global secondary indexes

Answer: B

Explanation: 
In DynamoDB, an index cannot be modified once it is created. Reference: http://aws.amazon.com/dynamodb/faqs/#security_anchor

NEW QUESTION 9
Can you SSH to your private machines that reside in a VPC from outside without elastic IP?

A. Yes, but only if you have direct connect or vpn
B. Only if you are using a non-US region
C. Only if you are using a US region
D. No

Answer: A

Explanation: 
The instances that reside in the private subnets of your VPC are not reachable from the Internet, meAMng that is not possible to ssh into them. To interact with
them you can use a bastion server, located in a public subnet, that will act as a proxy for them.
You can also connect if you have direct connect or vpn.
Reference: http://docs.aws.amazon.com/AmazonVPC/latest/UserGuide/VPC_Scenario2.html

NEW QUESTION 10
A user has created a MySQL RDS instance. Which of the below mentioned options is mandatory to configure while creating an instance?

A. MuIti AZ deployment setup
B. Automated backup window
C. Availability Zone
D. Maintenance window

Answer: A

Explanation: 
When creating an RDS instance, the user needs to specify whether it is Nlulti AZ or not. If the user does not provide the value for the zone, the maintenance
window or automated backup window, RDS will automatically select the value.
Reference: http://docs.aws.amazon.com/AmazonRDS/latest/UserGuide/Concepts.lV|u|tiAZ.htmI

NEW QUESTION 10
How long are the messages kept on an SQS queue by default?
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A. If a message is not read, it is never deleted
B. 2 weeks
C. 1 day
D. 4 days

Answer: D

Explanation: 
The SQS message retention period is configurable and can be set anywhere from 1 minute to 2 weeks. The default is 4 days and once the message retention limit
is reached your messages will be automatically deleted. The option for longer message retention provides greater filexibility to allow for longer intervals between
message production and consumption.
Reference: https://aws.amazon.com/sqs/faqs/

NEW QUESTION 15
A user has created an application which sends data to a log file. The server hosting the log files can be unavailable due to any reason. The user wants to make it
so that whenever the log server is up it should be receMng the messages. Which of the below mentioned AWS services helps achieve this functionality?

A. AWS Simple Workflow
B. AWS Simple Task Service
C. AWS Simple Notification Service
D. AWS Simple Queue Service

Answer: D

Explanation: 
Amazon Simple Queue Service (SQS) is a fast, reliable, scalable, and fully managed message queuing service. SQS provides a simple and cost-effective way to
decouple the components of an application. The user can use SQS to transmit any volume of data without losing messages or requiring other services to always
be available. Using SQS, the application has to just send the data to SQS and SQS transmits it to the log file whenever it is available.
Reference: http://aws.amazon.com/sqs/

NEW QUESTION 16
In AWS Elastic Beanstalk, you can update your deployed application even while it is part of a running environment. For a Java application, you can also use to
update your deployed application.

A. the AWS Toolkit for Eclipse
B. the AWS Toolkit for Visual Studio
C. the AWS Toolkit for JVM
D. the AWS Toolkit for Netbeans

Answer: A

Explanation: 
In AWS Elastic Beanstalk, you can update your deployed application, even while it is part of a running environment. For a Java application, you can also use the
AWS Toolkit for Eclipse to update your deployed application.
Reference: http://docs.aws.amazon.com/elasticbeanstaIk/latest/dg/GettingStarted.WaIkthrough.htmI

NEW QUESTION 21
An account owner has created an IAM user with the name examkiller. The account owner wants to give EC2 access of only the US West region to that IAM user.
How can the owner configure this?

A. While creating a policy provide the region as a part of the resources
B. Create an IAM user in the US West region and give access to EC2
C. Create an IAM policy and define the region in the condition
D. It is not possible to provide access based on the region

Answer: C

Explanation: 
The IAM policy is never region specific. If the user wants to configure the region specific setting, he needs to provide conditions as part of the policy.
Reference: http://awspolicygen.s3.amazonaws.com/poIicygen.htmI

NEW QUESTION 26
In DynamoDB, the default table size is:

A. 5 GB
B. 1 GB
C. 10 GB
D. There is no table size

Answer: D

Explanation: 
DynamoDB has seamless scalability with no table size limits and unlimited storage, so you shouIdn't be worried about managing storage on the host or to
provisioning more drive, as your data requirement changes.
Reference: http://aws.amazon.com/dynamodb/

NEW QUESTION 28
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A user is launching an AWS RDS instance with MySQL. The user wants to enable the Nlulti AZ feature. Which of the below mentioned parameters will not be
allowed to configure by RDS?

A. Availability Zone
B. Region
C. DB subnet group
D. Database port

Answer: A

Explanation: 
If the user is launching RDS with Multi AZ the user cannot provision the Availability Zone. RDS is launched automatically instead
Reference: https://console.aws.amazon.com/rds/

NEW QUESTION 30
You want to have multiple versions of your application running at the same time, with all versions launched via AWS Elastic Beanstalk. Is this possible?

A. N
B. However if you have 2 AWS accounts this can be done
C. N
D. AWS Elastic Beanstalk is not designed to support multiple running environments
E. Ye
F. AWS Elastic Beanstalk is designed to support a number of multiple running environments
G. Ye
H. However AWS Elastic Beanstalk is designed to support only 2 multiple running environments

Answer: C

Explanation: 
AWS Elastic Beanstalk is designed to support multiple running environments. As an example you could have one for integration testing, one for pre-production,
and one for production, with each environment independently configured and running on its own separate AWS resources.
Reference: https://aws.amazon.com/elasticbeansta|k/faqs/

NEW QUESTION 31
Which of the below mentioned options is not a best practice to securely manage the AWS access credentials?

A. Enable MFA for prMleged users
B. Create indMdual IAM users
C. Keep rotating your secure access credentials at regular intervals
D. Create strong access key and secret access key and attach to the root account

Answer: D

Explanation: 
It is a recommended approach to avoid using the access and secret access keys of the root account.
Thus, do not download or delete it. Instead make the IAM user as powerful as the root account and use its credentials. The user cannot generate their own access
and secret access keys as they are always generated by AWS.
Reference: http://docs.aws.amazon.com/IAM/latest/UserGuide/IAMBestPractices.html

NEW QUESTION 32
A user has launched an EC2 instance and installed a website with the Apache webserver. The webserver is running but the user is not able to access the website
from the internet. What can be the possible reason for this failure?

A. The security group of the instance is not configured properly.
B. The instance is not configured with the proper key-pairs.
C. The Apache website cannot be accessed from the internet.
D. Instance is not configured with an elastic I

Answer: A

Explanation: 
In Amazon Web Services, when a user has configured an instance with Apache, the user needs to ensure that the ports in the security group are opened as
configured in Apache config. E.g. If Apache is running on port 80, the user should open port 80 in the security group.
Reference: http://docs.aws.amazon.com/AWSEC2/latest/UserGuide/using-network-security.html

NEW QUESTION 36
When you use the AWS Elastic Beanstalk console to deploy a new application you’II need to upload a source bundle and it should .

A. Consist of a single .zip file
B. Consist of a single .war file
C. Consist of a single .zip file or .war file
D. Consist of a folder with all files

Answer: C

Explanation: 
When you use the AWS Elastic Beanstalk console to deploy a new application or an application version, you’II need to upload a source bundle. Your source
bundle must meet the following requirements: Consist of a single .zip file or .war file
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Not exceed 512 MB
Not include a parent folder or top-level directory (subdirectories are fine) Reference:
http://docs.aws.amazon.com/elasticbeanstaIk/latest/dg/using-features.depIoyment.source.html

NEW QUESTION 39
How does Amazon SQS allow multiple readers to access the same message queue without losing messages or processing them many times?

A. By identifying a user by his unique id
B. By using unique cryptography
C. Amazon SQS queue has a configurable visibility timeout.
D. MuItipIe readers can't access the same message queue

Answer: C

Explanation: 
Every Amazon SQS queue has a configurable visibility timeout. For the designated amount of time after a message is read from a queue, it will not be visible to
any other reader. As long as the amount of time that it takes to process the message is less than the visibility timeout, every message will be processed and
deleted. In the event that the component processing the message fails or becomes unavailable, the message will again become visible to any component reading
the queue once the visibility timeout ends. This allows you to have many components all reading messages from the same queue, with each working to process
different messages.
Reference: https://aws.amazon.com/sqs/faqs/

NEW QUESTION 43
A user is trying to understand AWS SNS. To which of the below mentioned end points is SNS unable to send a notification?

A. AWS SES
B. Email JSON
C. AWS SQS
D. HTTP

Answer: A

Explanation: 
Amazon Simple Notification Service (Amazon SNS) is a fast, filexible, and fully managed push messaging service. Amazon SNS can deliver notifications by SMS
text message or email to the Amazon Simple Queue Service (SQS) queues or to any HTTP endpoint. The user can select one the following
transports as part of the subscription requests: "HTTP", "HTTPS","Emai|", "EmaiI-JSON", "SQS", "and SMS".
Reference: http://aws.amazon.com/sns/faqs/

NEW QUESTION 46
A user has created photo editing software and hosted it on EC2. The software accepts requests from the user about the photo format and resolution and sends a
message to S3 to enhance the picture accordingly. Which of the below mentioned AWS services will help make a scalable software with the AWS infrastructure in
this scenario?

A. AWS Elastic Transcoder
B. AWS Simple Notification Service
C. AWS Simple Queue Service
D. AWS Glacier

Answer: C

Explanation: 
Amazon Simple Queue Service (SQS) is a fast, reliable, scalable, and fully managed message queuing service. SQS provides a simple and cost-effective way to
decouple the components of an application. The user can configure SQS, which will decouple the call between the EC2 application and S3. Thus, the application
does not keep waiting for S3 to provide the data.
Reference: http://aws.amazon.com/sqs/faqs/

NEW QUESTION 50
An orgAMzation is setting up their website on AWS. The orgAMzation is working on various security measures to be performed on the AWS EC2 instances. Which
of the below mentioned security mechAMsms will not help the orgAMzation to avoid future data leaks and identify security weaknesses?

A. Perform SQL injection for application testing.
B. Run penetration testing on AWS with prior approval from Amazon.
C. Perform a hardening test on the AWS instance.
D. Perform a Code Check for any memory leak

Answer: D

Explanation: 
AWS security follows the shared security model where the user is as much responsible as Amazon. Since Amazon is a public cloud it is bound to be targeted by
hackers. If an orgAMzation is planning to host their application on AWS EC2, they should perform the below mentioned security checks as a measure to find any
security weakness/data leaks:
Perform penetration testing as performed by attackers to find any vulnerability. The orgAMzation must take an approval from AWS before performing penetration
testing
Perform hardening testing to find if there are any unnecessary ports open Perform SQL injection to find any DB security issues
The code memory checks are generally useful when the orgAMzation wants to improve the application performance.
Reference: http://aws.amazon.com/security/penetration-testing/

NEW QUESTION 53
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A user has set an IAM policy where it allows all requests if a request from IP 10.10.10.1/32. Another policy allows all the requests between 5 PM to 7 PM. What will
happen when a user is requesting access from IP 10.10.10.1/32 at 6 PM?

A. IAM will throw an error for policy conflict
B. It is not possible to set a policy based on the time or IP
C. It will deny access
D. It will allow access

Answer: D

Explanation: 
With regard to IAM, when a request is made, the AWS service decides whether a given request should be allowed or denied. The evaluation logic follows these
rules:
By default, all requests are denied. (In general, requests made using the account credentials for resources in the account are always allowed.)
An explicit allow policy overrides this default. An explicit deny policy overrides any allows. Reference:
http://docs.aws.amazon.com/IAM/latest/UserGuide/AccessPoIicyLanguage_EvaIuationLogic.htmI

NEW QUESTION 55
A user is running a webserver on EC2. The user wants to receive the SMS when the EC2 instance utilization is above the threshold limit. Which AWS services
should the user configure in this case?

A. AWS CIoudWatch + AWS SES.
B. AWS CIoudWatch + AWS SNS.
C. AWS CIoudWatch + AWS SQS.
D. AWS EC2 + AWS Cloudwatc

Answer: B

Explanation: 
Amazon SNS makes it simple and cost-effective to push to mobile devices, such as iPhone, iPad, Android, Kindle Fire, and internet connected smart devices, as
well as pushing to other distributed services. In this case, the user can configure that Cloudwatch sends an alarm on when the threshold is crossed to SNS which
will trigger an SMS.
Reference: http://aws.amazon.com/sns/

NEW QUESTION 58
A user has created an EBS instance in the US-East-1a AZ. The user has a volume of 30 GB in the US-East-1 b zone. How can the user attach the volume to an
instance?

A. Since both the volume and the instance are in the same region, the user can attach the volume
B. Use the volume migrate function to move the volume from one AZ to another and attach to the instance
C. Take a snapshot of the volum
D. Create a new volume in the USEast-1a and attach that to the instance
E. Use the volume replicate function to create a new volume in the US-East-1a and attach that to the volume

Answer: C

Explanation: 
If an EBS volume is not in the same AZ of an EC2 instance, it cannot be attached to the instance. The only option is to take a snapshot of the volume and create a
new volume in the instance’s AZ. Reference: http://docs.aws.amazon.com/AWSEC2/latest/UserGuide/EBSSnapshots.htmI

NEW QUESTION 59
A user is part of a group which has a policy allowing him just read only access to EC2. The user is part of another group which has full access to EC2. What
happens when the user tries to launch an instance?

A. It will allow the user to launch the instance
B. It will fail since the user has just read only access
C. It will allow or deny based on the group under which the user has logged into EC2
D. It will not allow the user to add to the conflicting groups

Answer: A

Explanation: 
The IAM group policy is always aggregated. In this case, if the user does not have permission for one group, but has permission for another group, he will have full
access to EC2. Unless there is specific deny policy, the user will be able to access EC2.
Reference: http://docs.aws.amazon.com/IAM/latest/UserGuide/PoIiciesOverview.htmI

NEW QUESTION 62
In regards to Amazon SQS how can you secure the messages in your queues?

A. You can't
B. Amazon SQS uses either your Access Key ID or an X.509 certificate to authenticate your identity
C. Through your IAM access keys
D. Don't use root access

Answer: B

Explanation: 
Authentication mechAMsms are provided to ensure that messages stored in Amazon SQS queues are secured against unauthorized access. Only the AWS
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account owners can access the queues they create. Amazon SQS uses proven cryptographic methods to authenticate your identity, either through the use of your
Access Key ID and request signature, or through the use of an X.509 certificate.
Reference: https://aws.amazon.com/sqs/faqs/

NEW QUESTION 63
In AWS Elastic Beanstalk, if the application returns any response other than 200 ,OK or there is no response within the configured InactMtyTimeout period, .

A. SQS once again makes the message visible in the queue and available for another attempt at processing
B. SQS waits for another timeout
C. SQS run DeIeteMessagecaII and deletes the message from the queue
D. SQS sends a message to the application with the lVIessageID and pending status

Answer: A

Explanation: 
In AWS Elastic Beanstalk, if the application returns any response other than 200, OK or there is no response within the configured InactMtyTimeout period, SQS
once again makes the message visible in the queue and available for another attempt at processing.
Reference:
http://docs.aws.amazon.com/elasticbeanstaIk/latest/dg/using-features-managing-env-tiers.htmI#worker-e nviron

NEW QUESTION 65
Which header received at the EC2 instance identifies the port used by the client while requesting ELB?

A. X-Forvvarded-Proto
B. X-Requested-Proto
C. X-Forvvarded-Port
D. X-Requested-Port

Answer: C

Explanation: 
The X-Forvvarded-Port request header helps the user identify the port used by the client while sending a request to ELB.
Reference: http://docs.aws.amazon.com/EIasticLoadBalancing/latest/DeveIoperGuide/TerminologyandKeyConcepts. html

NEW QUESTION 69
A user has an S3 object in the US Standard region with the content "coIor=red". The user updates the object with the content as "coIor="white". If the user tries to
read the value 1 minute after it was uploaded, what will S3 return?

A. It will return "coIor=white"
B. It will return "coIor=red"
C. It will return an error saying that the object was not found
D. It may return either "coIor=red" or "color=white" i.
E. any of the value

Answer: D

Explanation: 
AWS S3 follows the eventual consistent model in the US Standard Region. Once the object is updated it
may return the new value or the old value based on whether all the content is replicated across multiple servers until it becomes consistent (eventual).
Reference: http://docs.aws.amazon.com/AmazonS3/Iatest/dev/Introduction.htmI

NEW QUESTION 72
A user wants to access RDS from an EC2 instance using IP addresses. Both RDS and EC2 are in the same region, but different AZs. Which of the below
mentioned options help configure that the instance is accessed faster?

A. Configure the Private IP of the Instance in RDS security group
B. Security group of EC2 allowed in the RDS security group
C. Configuring the elastic IP of the instance in RDS security group
D. Configure the Public IP of the instance in RDS security group

Answer: A

Explanation: 
If the user is going to specify an IP range in RDS security group, AWS recommends using the private IP address of the Amazon EC2 instance. This provides a
more direct network route from the Amazon EC2 instance to the Amazon RDS DB instance, and does not incur network charges for the data sent outside of the
Amazon network.
Reference: http://docs.aws.amazon.com/AmazonRDS/latest/UserGuide/USER_WorkingWithSecurityGroups.html

NEW QUESTION 73
A user is creating a snapshot of an EBS volume. Which of the below statements is incorrect in relation to the creation of an EBS snapshot?

A. Its incremental
B. It can be used to launch a new instance
C. It is stored in the same AZ as the volume
D. It is a point in time backup of the EBS volume

Answer: C
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Explanation: 
The EBS snapshots are a point in time backup of the EBS volume. It is an incremental snapshot, but is always specific to the region and never specific to a single
AZ.
Hence the statement "|t is stored in the same AZ as the volume" is incorrect.
Reference: http://docs.aws.amazon.com/AWSEC2/latest/UserGuide/EBSSnapshots.htmI

NEW QUESTION 74
A user is planning to use EBS for his DB requirement. The user already has an EC2 instance running in the VPC private subnet. How can the user attach the EBS
volume to a running instance?

A. The user must create EBS within the same VPC and then attach it to a running instance.
B. The user can create EBS in the same zone as the subnet of instance and attach that EBS to instance.
C. It is not possible to attach an EBS to an instance running in VPC until the instance is stopped.
D. The user can specify the same subnet while creating EBS and then attach it to a running instanc

Answer: B

Explanation: 
A Virtual Private Cloud (VPC) is a virtual network dedicated to the user’s AWS account. The user can create subnets as per the requirement within a VPC. The
VPC is always specific to a region. The user can create a VPC which can span multiple Availability Zones by adding one or more subnets in each Availability Zone.
The instance launched will always be in the same availability zone of the respective subnet. When creating an EBS the user cannot specify the subnet or VPC.
However, the user must create the EBS in the same zone as the instance so that it can attach the EBS volume to the running instance.
Reference: http://docs.aws.amazon.com/AmazonVPC/latest/UserGuide/VPC_Subnets.htm|#VPCSubnet

NEW QUESTION 78
What is the maximum number of tags that a user can assign to an EC2 instance?

A. 50
B. 10
C. 5
D. 25

Answer: B

Explanation: 
To help manage EC2 instances as well as their usage in a better way, the user can tag the instances. The tags are metadata assigned by the user which consists
of a key and a value. One resource can have a maximum of 10 tags.
Reference: http://docs.aws.amazon.com/AWSEC2/latest/UserGuide/Using_Tags.html

NEW QUESTION 82
How do you configure SQS to support longer message retention?

A. Set the lVIessageRetentionPeriod attribute using the SetQueueAttributes method
B. Using a Lambda function
C. You can'
D. It is set to 14 days and cannot be changed
E. You need to request it from AWS

Answer: A

Explanation: 
To configure the message retention period, set the lVIessageRetentionPeriod attribute using the SetQueueAttributes method. This attribute is used to specify the
number of seconds a message will be retained by SQS. Currently the default value for the message retention period is 4 days. Using the
lVIessageRetentionPeriod attribute, the message retention period can be set anywhere from 60 seconds (1 minute), up to 1209600 seconds (14 days).
Reference: https://aws.amazon.com/sqs/faqs/

NEW QUESTION 85
Does Amazon DynamoDB support both increment and decrement atomic operations?

A. No, neither increment nor decrement operations.
B. Only increment, since decrement are inherently impossible with DynamoDB's data model.
C. Only decrement, since increment are inherently impossible with DynamoDB's data model.
D. Yes, both increment and decrement operation

Answer: D

Explanation: 
Amazon DynamoDB supports increment and decrement atomic operations.
Reference: http://docs.aws.amazon.com/amazondynamodb/latest/developerguide/APISummary.html

NEW QUESTION 87
ExamKiIIer (with AWS account ID 111122223333) has created 50 IAM users for its orgAMzation’s employees. What will be the AWS console URL for these
associates?

A. https:// 111122223333.signin.aws.amazon.com/conso|e/
B. https:// signin.aws.amazon.com/consoIe/
C. https://signin.aws.amazon.com/111122223333/conso|e/
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D. https://signin.aws.amazon.com/console/111122223333/

Answer: A

Explanation: 
When an orgAMzation is using AWS IAM for creating various users and manage their access rights, the IAM user cannot use the login URL
http://aws.amazon.com/console to access AWS management console. The console login URL for the IAM user will have AWS account ID of that orgAMzation to
identify the IAM user belongs to particular account. The AWS console login URL for the IAM user will be https://
<AWS_Account_|D>.signin.aws.amazon.com/consoIe/. In this case it will be https:// 111122223333.signin.aws.amazon.com/consoIe/
Reference: http://docs.aws.amazon.com/IAM/latest/UserGuide/AccountAIias.html

NEW QUESTION 90
A user is setting up an Elastic Load BaIancer(ELB). Which of the below parameters should the user consider so as the instance gets registered with the ELB?

A. ELB DNS
B. IP address
C. Security group
D. ELB IP

Answer: B

Explanation: 
The EC2 instances are registered with the load balancer using the IP addresses associated with the instances. When an instance is stopped and then started, the
IP address associated with the instance changes. This prevents the load balancer from routing traffic to the restarted instance. When the user stops and then
starts registered EC2 instances, it is recommended that to de-register the stopped instance from load balancer, and then register the restarted instance. Failure to
do so may prevent the load balancer from performing health checks and routing the traffic to the restarted instance.

NEW QUESTION 94
A user has created a snapshot of an EBS volume. Which of the below mentioned usage cases is not possible with respect to a snapshot?

A. Nlirroring the volume from one AZ to another AZ
B. Launch an instance
C. Decrease the volume size
D. Increase the size of the volume

Answer: C

Explanation: 
The EBS snapshots are a point in time backup ofthe volume. It is helpful to move the volume from one AZ to another or launch a new instance. The user can
increase the size of the volume but cannot decrease it less than the original snapshot size.
Reference: http://docs.aws.amazon.com/AWSEC2/latest/UserGuide/EBSSnapshots.htmI

NEW QUESTION 97
Which of the following solutions is not supported by DynamoDB:

A. Hash secondary index
B. Local secondary index
C. Hash Primary Key
D. Global secondary index

Answer: A

Explanation: 
In DynamoDB, a secondary index is a data structure that contains a subset of attributes from a table, along with an alternate key to support Query operations.
DynamoDB supports the following two types of secondary indexes:
Local secondary index is an index that has the same hash key as the table, but a different range key. A local secondary index is "IocaI" in the sense that every
partition of a local secondary index is scoped to a table partition that has the same hash key.
Global secondary index is an index with a hash and range key that can be different from those on the table. A global secondary index is considered "gIobaI"
because queries on the index can span all of the data in a table, across all partitions.
Reference: http://docs.aws.amazon.com/amazondynamodb/latest/developerguide/DataModeI.html

NEW QUESTION 102
An orgAMzation has created an application which is hosted on the AWS EC2 instance. The application stores images to S3 when the end user uploads to it. The
orgAMzation does not want to store the AWS secure credentials required to access the S3 inside the instance. Which of the below mentioned options is a possible
solution to avoid any security threat?

A. Use the IAM role and assign it to the instance.
B. Since the application is hosted on EC2, it does not need credentials to access S3.
C. Use the X.509 certificates instead of the access and the secret access keys.
D. Use the IAM based single sign between the AWS resources and the orgAMzation applicatio

Answer: A

Explanation: 
The AWS IAM role uses temporary security credentials to access AWS services. Once the role is assigned to an instance, it will not need any security credentials
to be stored on the instance. Reference: http://docs.aws.amazon.com/AWSEC2/latest/UserGuide/iam-roles-for-amazon-ec2.html
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NEW QUESTION 105
When a user is launching an instance with EC2, which of the below mentioned options is not available during the instance launch console for a key pair?

A. Proceed without the key pair
B. Upload a new key pair
C. Select an existing key pair
D. Create a new key pair

Answer: B

Explanation: 
While launching an EC2 instance, the user can create a new key pair, select an existing key pair or proceed without a key pair. The user cannot upload a new key
pair in the EC2 instance launch console. Reference: http://docs.aws.amazon.com/AWSEC2/latest/UserGuide/launching-instance.html

NEW QUESTION 108
In regards to VPC, select the correct statement:

A. You can associate multiple subnets with the same Route Table.
B. You can associate multiple subnets with the same Route Table, but you can't associate a subnet with only one Route Table.
C. You can't associate multiple subnets with the same Route Table.
D. None of thes

Answer: A

Explanation: 
Every subnet in your VPC must be associated with exactly one Route Table. However, multiple subnets can be associated with the same Route Table.
Reference: http://docs.aws.amazon.com/AmazonVPC/latest/UserGuide/VPC_Route_TabIes.html

NEW QUESTION 112
Your supervisor has asked you to build a simple file synchronization service for your department. He doesn't want to spend too much money and he wants to be
notified of any changes to files by email. What do you think would be the best Amazon service to use for the email solution?

A. Amazon CIoudSearch
B. Amazon Elastic Transcoder
C. Amazon SES
D. Amazon AppStream

Answer: C

Explanation: 
File change notifications can be sent via email to users following the resource with Amazon Simple Email Service (Amazon SES), an easy-to-use, cost-effective
email solution.
Reference: http://media.amazonwebservices.com/architecturecenter/AWS_ac_ra_fiIesync_08.pdf

NEW QUESTION 114
A user has enabled automated backup for an RDS instance. What is the longest duration for which the user can retain the automated backup?

A. 25 days
B. 15 days
C. 45 days
D. 35 days

Answer: D

Explanation: 
Amazon RDS provides two different methods for backing up and restoring the Amazon DB instances: automated backups and DB snapshots. Automated backups
automatically back up the DB instance during a specific, user-definable backup window, and keep the backups for a limited, user-specified period of time. The
maximum period can be 35 days.
Reference: http://docs.aws.amazon.com/AmazonRDS/latest/UserGuide/Overview.BackingUpAndRestoringAmazonR DSInstances.htmI

NEW QUESTION 118
A user is uploading archives to Glacier. The user is trying to understand key Glacier resources. Which of the below mentioned options is not a Glacier resource?

A. Notification configuration
B. Archive ID
C. Job
D. Archive

Answer: B

Explanation: 
AWS Glacier has four resources. Vault and Archives are core data model concepts. Job is required to initiate download of archive. The notification configuration is
required to send user notification when archive is available for download.
Reference: http://docs.aws.amazon.com/amazongIacier/latest/dev/amazon-glacier-data-model.html

NEW QUESTION 123
An orgAMzation has created 10 IAM users. The orgAMzation wants those users to work independently and access AWS. Which of the below mentioned options is
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not a possible solution?

A. Create the access key and secret access key for each user and provide access to AWS using the console
B. Create the X.509 certificate for each user and provide them access to AWS CLI
C. Enable MFA for each IAM user and assign them the virtual MFA device to access the console
D. Provide each user with the IAM login and password for the AWS console

Answer: A

Explanation: 
If an orgAMzation has created the IAM users, the users can access AWS services either with an IAM specific login/password or console. The orgAMzation can
generate the IAM X.509 certificates to access AWS with CLI. The orgAMzation can also enable MFA for each IAM user, which allows an added security for each
IAM user. If the orgAMzation has created the access key and secret key than the user cannot access the console using those keys. Access key and secret access
key are useful for CLI or
Webservices.
Reference: http://docs.aws.amazon.com/IAM/latest/UserGuide/IAM_Introduction.htm|

NEW QUESTION 125
A user is planning to host data with RDS. Which of the below mentioned databases is not supported by RDS?

A. PostgreSQL
B. SQLDB
C. Oracle
D. MS SQL

Answer: B

Explanation: 
Amazon Relational Database Service (Amazon RDS) is a web service that makes it easier to set up, operate, and scale a relational database in the cloud. AWS
RDS supports popular DBs, such as lV|ySQL, PostgreSQL, MS SQL and Oracle. This means that the code, applications, and tools user is already using with
existing databases can be used with Amazon RDS too. In short, it is a managed Relation Database offering from AWS which manages backups, software
patching, automatic failure detection, and recovery of Database.
Reference: http://docs.aws.amazon.com/AmazonRDS/latest/UserGuide/Welcome.html

NEW QUESTION 128
A user has configured a website and launched it using the Apache web server on port 80. The user is using ELB with the EC2 instances for Load Balancing. What
should the user do to ensure that the EC2 instances accept requests only from ELB?

A. Open the port for an ELB static IP in the EC2 security group
B. Configure the security group of EC2, which allows access to the ELB source security group
C. Configure the EC2 instance so that it only listens on the ELB port
D. Configure the security group of EC2, which allows access only to the ELB listener

Answer: B

Explanation: 
When a user is configuring ELB and registering the EC2 instances with it, ELB will create a source security group. If the user wants to allow traffic only from ELB,
he should remove all the rules set for the other requests and open the port only for the ELB source security group.
Reference:
http://docs.aws.amazon.com/EIasticLoadBaIancing/latest/DeveIoperGuide/using-elb-security-groups.htmI

NEW QUESTION 131
A user has created an EBS volume with 1000 IOPS. What is the average IOPS that the user will get for most of the year as per EC2 SLA if the instance is attached
to the EBS optimized instance?

A. 900
B. 990
C. 950
D. 1000

Answer: A

Explanation: 
As per AWS SLA if the instance is attached to an EBS-Optimized instance, then the Provisioned IOPS volumes are designed to deliver within 10% of the
provisioned IOPS performance 99.9% of the time in a given year. Thus, if the user has created a volume of 1000 IOPS, the user will get a minimum 900 IOPS
99.9% time of the year.
Reference: http://aws.amazon.com/ec2/faqs/

NEW QUESTION 133
Which of the following programming languages have an officially supported AWS SDK? Choose 2 answers

A. Perl
B. PHP
C. Pascal
D. Java
E. SQL

Answer: BD
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NEW QUESTION 135
Which of the following is an example of a good DynamoDB hash key schema for provisioned throughput efficiency?

A. User ID, where the application has many different users.
B. Status Code where most status codes are the same
C. Device ID, where one is by far more popular than all the others.
D. Game Type, where there are three possible game types

Answer: A

NEW QUESTION 136
A meteorological system monitors 600 temperature gauges, obtaining temperature samples every minute and saving each sample to a DynamoDB table. Each
sample involves writing 1K of data and the writes are evenly distributed over time.
How much write throughput is required for the target table?

A. 1 write capacity unit
B. 10 write capacity units
C. 60 write capacity units
D. 600 write capacity units
E. 3600 write capacity units

Answer: B

NEW QUESTION 138
Which of the following are valid arguments for an SNS Publish request? Choose 3 answers

A. TopicAm
B. Subject
C. Destination
D. Format
E. Message F.Language

Answer: ABE

NEW QUESTION 143
Which of the following platforms are supported by Elastic Beanstalk? Choose 2 answers

A. Apache Tomcat
B. .NET
C. IBM Websphere
D. Oracle JBoss
E. Jetty

Answer: AB

NEW QUESTION 145
Which code snippet below returns the URL of a load balanced web site created in CIoudFormation with an AWS::EIasticLoadBaIancing::LoadBaIancer resource
name "EIasticLoad BaIancer"?

A. "Fn::Join" : [ '‘'‘ . ["http://", {"Fn::GetAtr" : ["EIasticLoadBalancer","DNSName"]}]]
B. "Fn::Join" : [ '‘'‘ . ["http://", {"Fn::GetAtr" : ["E|asticLoadBa|ancer","Ur|"]}]]
C. "Fn::Join" : [ '‘'‘ . ["http://", {"Ref" : "EIasticLoadBaIancerUr|"}]]
D. "Fn::Join" : ["http://", {"Ref" : "EIasticLoadBaIancerDNSName"}]]

Answer: B

NEW QUESTION 146
An Amazon S3 bucket, "myawsbucket" is configured with website hosting in Tokyo region, what is the region-specific website endpoint?

A. www.myawsbucket.ap-northeast-1.amazonaws.com
B. myawsbucket.s3-website-ap-northeast-I.amazonawscom
C. myawsbucket.amazonaws.com
D. myawsbucket.tokyo.amazonaws.com

Answer: B

NEW QUESTION 149
How is provisioned throughput affected by the chosen consistency model when reading data from a DynamoDB table?

A. Strongly consistent reads use the same amount of throughput as eventually consistent reads
B. Strongly consistent reads use more throughput than eventually consistent reads.
C. Strongly consistent reads use less throughput than eventually consistent reads
D. Strongly consistent reads use variable throughput depending on read actMty

Answer: B
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NEW QUESTION 152
A corporate web application is deployed within an Amazon VPC, and is connected to the corporate data center via IPSec VPN. The application must authenticate
against the on-premise LDAP server. Once authenticated, logged-in users can only access an S3 keyspace specific to the user.
Which two approaches can satisfy the objectives? Choose 2 answers

A. The application authenticates against LDA
B. The application then calls the IAM Security Service to login to IAM using the LDAP credential
C. The application can use the IAM temporary credentials to access the appropriate S3 bucket.
D. The application authenticates against LDAP, and retrieves the name of an IAM role associated with the use
E. The application then calls the IAM Security Token Service to assume that IAM Rol
F. The application can use the temporary credentials to access the appropriate S3 bucket.
G. The application authenticates against IAM Security Token Service using the LDAP credential
H. The application uses those temporary AWS security credentials to access the appropriate S3 bucket.
I. Develop an identity broker which authenticates against LDAP, and then calls IAM Security Token Service to get IAM federated user credential
J. The application calls the identity broker to get IAM federated user credentials with access to the appropriate S3 bucket.
K. Develop an identity broker which authenticates against IAM Security Token Service to assume an IAM Role to get temporary AWS security credential
L. The application calls the identity broker to get AWS temporary security credentials with access to the appropriate S3 bucket.

Answer: BD

NEW QUESTION 156
You attempt to store an object in the US-STANDARD region in Amazon S3, and receive a confirmation that it has been successfully stored. You then immediately
make another API call and attempt to read this object. S3 tells you that the object does not exist
What could explain this behavior?

A. US-STANDARD uses eventual consistency and it can take time for an object to be readable in a bucket
B. Objects in Amazon S3 do not become visible until they are replicated to a second region.
C. US-STANDARD imposes a 1 second delay before new objects are readable.
D. You exceeded the bucket object limit, and once this limit is raised the object will be visible.

Answer: A

NEW QUESTION 157
You run an ad-supported photo sharing website using S3 to serve photos to visitors of your site. At some point you find out that other sites have been linking to the
photos on your site, causing loss to your business.
What is an effective method to mitigate this?

A. Store photos on an EBS volume ofthe web server
B. Remove public read access and use signed URLs with expiry dates.
C. Use C|oudFront distributions for static content.
D. Block the IPs of the offending websites in Security Group

Answer: B

NEW QUESTION 161
......
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